INDEFINITE INTEGRALS AND SUBSTITUTION

1 Find: (a) .Zx( x* =1 )‘ dx using the substitution u = =1

- % 3
(b) |3x° (x’ + -!) dx using the substitution u = x" + 4

c xlxlx’ + 1 dx using the substitution u=x" + 1.
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INDEFINITE INTEGRALS AND SUBSTITUTION

2 Find: (a) J’ (2t +1)" dt using the substitution u =21+ 1

2x : o 2
(b) I - dx using the substitution u =x" -4
Jx‘ -4

3 5 2 .
(c) J.(Z.\' +1 )(.\" +x+ 2) dx using the substitution u=x"+x+ 2.
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INDEFINITE INTEGRALS AND SUBSTITUTION

4 Find: (a) [(3-2x)% dx using the substitution u =3 = 2x
L

(b) . L —dx using the substitution u = 3x*+ 2x 4 5
- (3\ +2x+ ‘E) A

(© |(x"-2x )( =31+ l)‘ dx using the substitution u=x'= 3x" + 1.
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INDEFINITE INTEGRALS AND SUBSTITUTION

6 Find: (a) J‘J!h/l-t2 dt using the substitution u =1 - r
(b) I xJaz - x" dx using the substitution u = a-x

(c) J z4z* + 1 dz using the substitution u =z* + 1.
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INDEFINITE INTEGRALS AND SUBSTITUTION

7 Find: (a) Iy,fy + 1 dy using the substitution u =y + 1
L dx using the substitution u = x -1

(b) J'(x_”,

(c) "‘72;—_-1-& using the substitution u=2x - 1.
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INDEFINITE INTEGRALS AND SUBSTITUTION
dx =1

W _Jl—=maﬂdx=10whcnl=0. Use the substitution u = t* = 21 + 4 to find x in terms of .
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